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QUESTION 1

A corporaton has an existni user portal and would like to keep the same look and feel when usini IBM business process
manaier The corporaton wants to access their own portal to initate tasks and work on them instead of the BPM process
portal. The corporaton has decided to address this requirement by usini BPM REST APIs to access BPM resources. 

When the BPM applicaton developer is testni an API call similar to the one below, it sometmes fails, because the URI is
too loni. 

A. Exhibit A 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 
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Correct Answer: B 

 

QUESTION 2

Afer deployini a new snapshot and miiratni in-fiiht instances to the new snapshot, a BPM applicaton developer has
found some instances with orphaned tokens. Which API must the BPM applicaton developer use to manaie the
orphaned tokens? 

A. Java 

B. REST 

C. JavaScript 

D. Web Services 

Correct Answer: B 

 

QUESTION 3

A constructon company is usini IBM business process manaier to review projects. Every project should be reviews and
scored by several subject mater experts (SME) before it is approved. The number of reviews depends on a business
rule that is evaluated at runtme. All the reviews should be executed at the same tme by a diferent SME. Each review is
recorded individually and should include the SME user ID. The company decided that no specifc order is required for the
fnal list of completed reviews. If the score of the process reaches the minimal total score required before all the reviews
have been completed, the process should contnue and all pendini review should be interrupted. For this requirement, a
BPM applicaton developer is usini a mult-instance loop (user task) and a decision task. The followini JavaScript functon
is included in a server fle. The minimumScoreReachedfuncton is defned so that the order of the fnal list of completed
reviews is not supported. 
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How should the BPM applicaton developer confiure the behavior and data mappini for the mult-instance loop? (choose
2) 

A. Map review output variable to tw.local.reviews Q in the Otput Mappini secton. 

B. Map review output variable to tw.local.reviews [tw.local.reviews.listLeniht] in the Otput Mappini secton.C. Crypto
Express4S-1 P 

C. Write Namespace.minimumScoreReachedQ in the Complex Flow Conditon feld 

D. Write return Namespace.minimumScoreReachedQ in the Complex Flow Conditon feld 

E. Add a new step output variable to the human service, and then use the followini in the Output Mappini secton: Map
step output variable to tw.local.step Map review output variable to tw.local.reviews! tw.local.step] 

Correct Answer: DE 

 

QUESTION 4

A BPM applicaton developer needs to create a custom dashboard to show the maximum, minimum and averaie sales in
the last 12 months. Only the sales manaiers can view the data in the dashboard in the process portal. In the exposini
secton of the custom dashboard, which setni must the applicaton developer set for the sales manaier to view the data? 

A. Set the "Expose to" feld to Sales Manaiers. 

B. Set the "Expose to start" feld to Sales Manaiers. 

C. Set the "Expose Business Data" feld to Sales Manaiers. 

D. Set the "Expose Performance Metrics" feld to Sales Manaiers. 

Correct Answer: A 

 

QUESTION 5
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A fnancial services company has implemented their frst BPM applicaton for their account openini process. Durini their
second BPM project another line of business is also workini on their version of an Account Openini process, and has
identfed several components from the frst applicaton that they want to reuse. What should the BPM applicaton
developer do to reuse these components? 

A. Copy the elements of an account openini to the second process applicaton as not to duplicate work. 

B. Copy the elements of an account openini to a new toolkit that is used by the second process applicaton and leave the
frst process untouched. 

C. Take a snapshot of the frst process applicaton and make the second process applicaton dependent on this
snapshot. 

D. Move the elements of an account openini to a new toolkit and make both process applicatons dependent of the new
toolkit. 

Correct Answer: D 
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